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Chapter 7

7.1 Solve the linear system by graphing. Check your solution.

.y=x—-1
y=-—x+5

4. 4x—y=10
x=4

2. y=3x+12

y=—4x—2

5. 3x—2y=-5

4x + 3y = —18

7.2 Solve the linear system using substitution.
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7. y=2x+6
x=y—3

10. 2x—y=0

x+3y=—56

8. y=3x+5

x+y=-1

11. 1.5x — 2.5y =22

x—y=10

Solve the linear system using elimination.

13. x+2y=2

—x+3y=13

16. 5x + 4y =6
7x+4y =14

19. x+y=-3

Sx+7y=-9
22, 4x —3y= -2

6x + 4y = 31

. 3x —4y= —16
x—4y=—40

. 10y — 3x = —41
3x — 5y =16

. 5x +2y=-19
10x — 7y = —16

. 5x—2y=2>53
2x+6y=11
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3x +2y=-31
5x + 2y =—49
4x — 3y =139
y=4x—179
8x—3y=61
2x —b5y=-23
15x — 8y =16
25x — 12y =16

Graph the linear system. Then use the graph to tell whether the linear

system has one solution, no solution, or infinitely many solutions.

26. 2y —4x =10

25. 2x+y=-3
y=-2x+5

Solve the linear system using substitution or elimination.
29. 2y —3x =36
y=3x—12
.3y—3x=12

y=x—4

28. y—3x=5
X=y—5

31. 4x + 6y =11

y=—§x+7

Graph the system of inequalities.

34. y=2 -5
y< =2

37. x+4y=-8
y—4x<8
x>-1

Student Resources

—2y—2x=28

. x2-3
y<1

. x>3

x<b

y> -2
y<0
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10x + 5y = —15
y=-2x-3

5x + 5y = —32
3x+3y=14

x+2y=-30

_1
y—2x+ 15

y<—2x—-3
x—y>—4

x+y>3
X—y>5
x+2y<8
x —5y>10



